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�. �	
��	�
�����, ���!���� "��	 �� ��������� #

���	������� �������

◆ ����� ������	
�� ��
������	 

	 ������ 
�	 �����	
������
�	;
● ��
������

● ��
�	����
 	����

● ����
��	���� ��� ����� ������� ������� 	����

● ������
���� �������

◆ ����� ������	
�� ��
������	 

	 ������� ���������� 
��
���
���;
●  !����
 �������� ���� ����	

● "������ � �������� ����
��
�

● #����
 � ����� �$�$���


� �%���%
� 
�� ��
������ ��� �	��
�%
�

● &���	������ ������	
�� (��	����� ���
��, ��������� ��!�����, ���
����)

◆ ����� ��	�� �� ��� ��	
�����	�� �������� ����������;
● '�	���: 40-50 ���	��

● (��
���	
�� ������: ����

 ���$������	
 �	��
�%


● )���
���
��	�������� ����
��
�����, "���
��
����� ���%��������
����
�	: 20-25 ���	��
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��������� �	� ������� ���

◆ ����� ������	
�� ��
������	 

	 �%���%
 
�� ��
������;

● '�		����� - ��	�
�� - ��
�	��
������

● *	��
�%���� ����

● (�����
��� �	��
�%


◆ ����� ��	�� �� �
��� ��
��������	 ������	�	

● ������ �
��: ������!�� ��
������

● '�� �	�������� ��
�������: ������!�� ���

�	, ��
�	���
�	 �����
�� �

	����, �����!�� ��� ������!�� �
� �
��
������ �
�.

◆ ����� ��	�� �� ��	
���
���� ������� ��
��
�
� 
�� �����	
����

��
������;

● '������� ��%
�
: �t = �0 + a t

● *�%
�
 �� 
�	 
��� 
�� �	�
�������: �t = �0(+ + �)t

● *�%
�
 ���!�	� �� 

 �����
��� ������
: �t = �� / (+ + m e –n t)

(,
�.: ���
���� ���
 

� ���!������ �%����
� d�t / dt = n �t (+ – �t / ��)

● '��!��� ����
��
 - ,������
 �� ����� ������

◆ ����� ������	
�� ��
������	 

	 ��
�	��� 
�� ��
������

● -��� ���
�
�, ��������� ��� $���
��	���� ����

���


�� �
�.
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��	���	��� �	
��
� 	�	��
���

◆ ��� ��	���
�� 
 ������ ������
�	 �� 

	 ���
���

��
�	����
;

● ������ ������
�	 = � × .��
��� ��
�	����

● ,�	
����
�� � = 0.60-0.85

● "��
	���� ���������!��: ,�	
����
�� � = 0.8

◆ ���� ��	�� 
� �����

���
��� �����
 

� ������� ������
�	

��� ��� ���������	
��;

● #��
 
������� ������ ������
�	 (���
 ������ �

 �������� �	��

�
���)

QE = � Q/"

● #����

 
������� ������ ������
�	 (���
 ������ �

 �������� 

�

����� �� 

 �����

 ��
�	����
)

Q) = �) Q" (
����� 
��� λΗ = +.5)

● #����

 �
������� ������ ������
�	 (����� 

� ������� �

 �������� 

�

����� �� 

 �����

 ��
�	����
, ���� ��� �� ��
 

 �������� �	�� �
���)

QP = P QH
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◆ *�� 
� �%��
�
�� ��� ��� ���������
�� � ��	
����
�� ������;

● "%��
�
�� ��� 
�	 ��
����� ��� �%��
��
��
�� (������ ��� 

	


������� ������ ������
�	), 

	 ������

� ����


� ���
������� ���

���
�������� ������
����

● (����� ����
 ����������� �� $��
 
�	 ��
�����

● ,���
 ���
	���	 ���������!�	 �� $��
 

	 �����

 
������� ������

������
�	

P = �.5 
⎝⎜
⎜⎛

⎠⎟
⎟⎞� + 

�.�

ΠΠΠΠ    / �000

P = �.5  + 
2.5

QH
≤≤≤≤ 3

◆ ��� ��	���	
�� �� ������� ������ ������� ��� �%���� �� �	�

���$�;

● ,QP ������� > QP �%����
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�	
	������� ���
���

◆ ����� ������	
�� �� ������
���� ������� �� ���
��

������
�	;

● "������ �������	 	���	

● "������ ��$���	 ���� ����	���	 ��	�����	

◆ *�� ������ ������	
�� ��
�����	
�� �� ������
���� �������;

● ,
���
 �������� �����	
�

● .���� �����	 ��� ����


� ��
�������

● ������


� ���
���

● 0������
�


� ���!���

● *��
������
���


� ���
��
�
� - ��	
��
�
� 
�� ���
���

◆ ��� ��
���	
�� �� ������
���� ������� �������	 	���	;

(#������ Metcalf & Eddy)

● 1�� ���
�� �� �
���	� !���
�� ��� ����
����� ���
������ �
���	����
�
�

����	

qi = 0.5 / A0.3 ≤ 0.+6+ L/s/ha

● ����� ���
�� �� �2
�� ������� �����	
�

qi = + / A0.25 (L/s/ha)


